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NEW QUESTION 1

- (Exam Topic 1)

You are about to release a test progress report to a senior manager, who is not a test specialist. Which of the following topics should NOT be included in the test
progress report? 1 credit

A. Product risks which have been mitigated and those which are outstanding.

B. Recommendations for taking controlling actions

C. Status compared against the started exit criteria

D. Detailed overview of the risk-based test approach being used to ensure the exit criteria to be achieved

Answer: D

NEW QUESTION 2

- (Exam Topic 2)

As part of the improvement program, the organization is also looking at tool support. Which type of tool could be used to ensure higher quality of the code to be
reviewed? 1 credit

A. Review tool

B. Test execution tool
C. Static analysis tool
D. Test design tool

Answer: C

NEW QUESTION 3
- (Exam Topic 2)
IEEE 1028 also defines “management review” as a type of review. What is the main purpose of a management review? 1 credit

A. Align technical concepts during the design phase

B. Establish a common understanding of requirements

C. Provide independent evaluation of compliance to processes, regulations, standards etc.

D. To monitor progress, assess the status of a project, and make decisions about future actions

Answer: D

NEW QUESTION 4
- (Exam Topic 4)
Which of the following is a characteristic of good testing in any life cycle model? 1 credit

A. Analysis and design of tests begins as soon as development is completed.
B. Some, but not all, development activities have corresponding test activities.
C. Each test level has test objectives specific to that level.

D. All document reviews involve the development team.

Answer: C

NEW QUESTION 5
- (Exam Topic 4)
Which of the following would be the TWO most appropriate examples of entry criteria documented in the system integration test plan? 2 credits

A. The percentage of decision coverage achieved during unit testing.

B. The availability of the latest version of the capture-replay tool (for testing the interface with the newly developed test management tool).

C. The sign-off of a performance test software release note (test item transmittal report) by both development and testing showing that system performance meets
the specified acceptance criteria.

D. The percentage of acceptance test procedures scheduled for execution.

E. The percentage of requirements coverage achieved during system integration test.

Answer: AB

NEW QUESTION 6
- (Exam Topic 5)
Which of the following is a project risk mitigation step you might take as test manager? 1 credit

A. Testing for performance problems

B. Hiring a contractor after a test analyst leaves the company

C. Arranging a back-up test environment in case the existing one fails during testing

D. Performing a project retrospective meeting using the test results after each increment
Answer: C

NEW QUESTION 7

- (Exam Topic 6)

You have been asked to write a testing strategy for the company. Which statement best explains how risk can be addressed within the testing strategy? 1 credit

A. A test strategy should address identified generic product risks and present a process for mitigating those risks in line with the testing policy.
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B. A test strategy identifies the specific product for a project risk and defines the approach for the test project.
C. A test strategy is derived from the test policy and describes the way risk assessments are performed in projects.
D. A test strategy is the result of a project risk analysis and defines the approach and resources for testing.

Answer: A

NEW QUESTION 8

- (Exam Topic 7)

What is the Risk Priority Number for risk item number 2? 2 credits
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Answer: D

NEW QUESTION 9
- (Exam Topic 7)
What would be a test approach regarding the test design techniques to be applied that would fit an item with the highest risk? 2 credits

A. Component testing: decision testing; System testing: exploratory testing

B. Component testing: decision testing; System testing: decision table testing

C. Component testing: statement testing; System testing: equivalence partitioning
D. Component testing: statement testing; System testing: decision table partitioning

Answer: B

NEW QUESTION 10
- (Exam Topic 8)
Based on the information given in the scenario, identify how the team could be improved most effectively? 2 credits

A. By providing training in the payroll domain

B. By providing a workshop on test design techniques

C. By providing specific training on the systems being tested
D. By providing training on reviewing requirements

Answer: B

NEW QUESTION 10
- (Exam Topic 8)
A number of options have been suggested for the level of independence to be employed for the testing on the next project, and are shown below.

A. External test specialists perform non-functional testing.i

B. Testing is outsourced.ii

C. Testing is carried out by the developer.i

D. A separate test team carries out the testing.

E. Testing is performed by the business.v

F. Testing is performed by a different developer.Which of the following orders the above in a correct order of independence? 1 credit
G. i, i, iv, vi

H.ii, i, v, vi
I i, v, i, iii

J. i, iv, v, Vi
Answer: B

NEW QUESTION 13
- (Exam Topic 9)
You are considering involving users during test execution. In general, what is the main reason for involving users during test execution? 1 credit

A. They are a cheap resource

B. They have good testing skills

C. This can serve as a way to build their confidence in the system
D. They have the ability to also focus on invalid test cases

Answer: C

NEW QUESTION 18

- (Exam Topic 10)

Evaluate the status of the project against the defined exit criteria. Which of the following options shows the correct status? 2 credits
A. Criteria A = OK, criteria B = OK, criteria C = OK

B. Criteria A = NOT OK, criteria B = NOT OK, criteria C = OK

C. Criteria A = OK, criteria B = NOT OK, criteria C = NOT OK

D. Criteria A = NOT OK, criteria B = NOT OK, criteria C = NOT OK

Answer: B
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NEW QUESTION 22

- (Exam Topic 15)

Within the projects, a master test plan and phase test plan will be used. Following is a list of characteristics applicable for test plans:
* a. Any deviation from the procedures described in the test strategy document

* b. The overall estimated costs, timescales and resource requirements

* ¢. A detailed schedule of testing activities

* d. The development deliverables to be tested

* e. Which test staff members (names) will be involved and when

* f. Level of requirements coverage achieved

Which THREE of the above mentioned characteristics relate to the master test plan? 1 credit
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Answer: ABD

NEW QUESTION 27
- (Exam Topic 16)
Which of the following product risks would be most effectively addressed just by static testing? 3 credits

A. In the delivered application, one of the countries, as specified in the requirements, has not been correctly implemented.
B. The application takes too long to process a request for additional cover.

C. The test cases do not cover the key requirements.

D. The successful bidder may not deliver all the required functionality on time.

Answer: C

NEW QUESTION 28
- (Exam Topic 18)
Which of the following is NOT a typical key challenge for testing in a RAD based development approach? 1 credit

A. Re-usable test scripts for (automated) regression testing
B. Project management and control

C. No complete requirements specification

D. Time-boxing

Answer: B

NEW QUESTION 29
- (Exam Topic 19)
Regarding the process described above, what is the most important recommendation you would make using IEEE 1044 as a guide? 2 credits

A. No priority or severity assigned

B. Incident numbering is manual rather than automated
C. No mentioning of reproduceability

D. No classification on type of incident

Answer: A

NEW QUESTION 32

- (Exam Topic 20)

Relying only on the information provided in the scenario, select the TWO items and/or features for which sufficient information is available to proceed with test
design. 2 credits

A. All supported credit cards
B. Language localization

C. Valid and invalid advances
D. Usability

E. Response time

Answer: AC

NEW QUESTION 35

- (Exam Topic 21)

Which of the following statements are true?

(i) Defects are likely to be found earlier in the development process by using reviews rather than static analysis.
(i) Walkthroughs require code but static analysis does not require code.

(iiif) Informal reviews can be performed on code and specifications.

(iv) Dynamic techniques are generally used before static techniques.

(v) Dynamic techniques can only be used after code is ready to be executed.

A. (i), (i), (vi).
B. (ii), (i), (v).
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C. (i), (iv), ().
D. (i), (iii), (v).

Answer: D

Explanation:
The other answers are incorrect because:

(i) Walkthroughs do not require code and static analysis does require code.
(iv) Static technigues do not execute the code and therefore can be run before and after the code is ready for execution.

NEW QUESTION 40
- (Exam Topic 21)

Which of the following are the most important factors to be taken into account when selecting test techniques?

(i) Tools available.

(il) Regulatory standards.

(iii) Experience of the development team.

(iv) Knowledge of the test team.

The need to maintain levels of capability in each technique.

A. (i) and (ii)
B. (ii) and (iv)
C. (iii) and (iv)
D. (i) and (v)

Answer: B

Explanation:

Answer (i) looks temptingly right, and the availability of tools might make the use of a technique more or less attractive, but it would not be decisive in the way that

regulatory standards and tester knowledge are.

Answer (iii) is irrelevant because testing should be independent of development anyway, but it could tempt someone who is unsure about the relationship between

development and testing.

Answer (V) is a factor in managing the test team, and experience would need to be maintained, but this should not influence the selection of techniques for a live

project.

NEW QUESTION 41
- (Exam Topic 21)

A software component has the code shown below: Program BiggestA,

Biggest: Integer Begin

Read A Biggest = 10 While A >0 Do
If A > Biggest

Then Biggest = A Endif

Read A Enddo End

The component has exit criteria for component testing that include 100% statement coverage. Which of the following test cases will satisfy this criterion?

NEW QUESTION 45
- (Exam Topic 21)
Faults found by users are due to..?

A. Poor quality software

B. Poor software and poor testing
C. Bad luck

D. Insufficient time for testing

Answer: B

NEW QUESTION 47
- (Exam Topic 21)
Which of the following is the odd one out..?

A. White box
B. Glass box
C. Structural
D. Functional

Answer: D
NEW QUESTION 50
- (Exam Topic 21)

What if the project isn't big enough to justify extensive testing..?

A. Use automation tool for testing
B. Use risk based analysis to find out which areas need to be tested
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C.Bothaandb
D. None of the above

Answer: B

NEW QUESTION 52
- (Exam Topic 21)
Which of the following characteristics of good testing apply to any software development life cycle model?

A. Acceptance testing is always the final test level to be applied.

B. All test levels are planned and completed for each developed feature.
C. Testers are involved as soon as the first piece of code can be executed.
D. For every development activity there is a corresponding testing activity.

Answer: D

NEW QUESTION 57

- (Exam Topic 21)

How many test cases are necessary to cover all the possible sequences of statements (paths) for the following program fragment?

Assume that the two conditions are independent of each other : -if (Condition 1)then statement lelse statement 2if (Condition 2)then statement 3

A. 2 Test Cases
B. 3 Test Cases
C. 4 Test Cases
D. Not achievable

Answer: A

NEW QUESTION 60
- (Exam Topic 21)
Which is not the fundamental test process?

A. Planning and control
B. Test closure activities
C. Analysis and design
D. None

Answer: D

NEW QUESTION 61
- (Exam Topic 21)
Incidents would not be raised against

A. Requirements

B. Documentation

C. Test cases

D. Improvements suggested by users

Answer: D

NEW QUESTION 63
- (Exam Topic 21)
Which of the following are aids to good communication, and which hinder it?

A. Try to understand how the other person feels.i

B. Communicate personal feelings, concentrating upon individuals.ii

C. Confirm the other person has understood what you have said and vice versa.i
D. Emphasize the common goal of better quality.

E. Each discussion is a battle to be won.

F. (i), (ii) and (iii) aid, (iv) and (v) hinder.

G. (iii), (iv) and (v) aid, (i) and (ii) hinder.

H. (i), (iii) and (iv) aid, (ii) and (v) hinder.

I. (ii), (i) and (iv) aid, (i) and (v) hinder.

Answer: C

NEW QUESTION 67

- (Exam Topic 21)

A washing machine has three temperature bands for different kinds of fabrics: fragile fabrics are washed at temperatures between 15 and 30 degrees Celsius;
normal fabrics are washed at temperatures between 31 and 60 degrees Celsius; heavily soiled and tough fabrics are washed at temperatures between 61 and 100
degrees Celsius.

Which of the following contains only values that are in different equivalence partitions?

A. 15, 30, 60
B. 20, 35, 60
C.25,45,75
D. 12, 35, 55
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Answer: C

Explanation:
Answer (A) includes two values from the lower partition, answer (B) contains two values from the second partition, answer (D) contains one value that is invalid
(out of range).

NEW QUESTION 70
- (Exam Topic 21)
In the MASPAR case study..?

A. Security failures were the result of untested parts of code

B. The development team achieved complete statement and branch coverage but missed a serious bug in the MASPAR operating system
C. An error in the code was so obscure that you had to test the function with almost every input value to find its two special-case failures
D. All the above

Answer: C

NEW QUESTION 74
- (Exam Topic 21)
What do you mean by “Having to say NO”..?

A. No, the problem is not with testers

B. No, the software is not ready for production
C.Botha &b

D. None of the above

Answer: B

NEW QUESTION 77
- (Exam Topic 21)
Independent Verification & Validation is:

A. Done by the Developer

B. Done by the Test Engineers

C. Done By Management

D. Done by an Entity Outside the Project’s sphere of influence

Answer: D

NEW QUESTION 79
- (Exam Topic 21)
Which of the following defects is most likely to be found by a test harness?

A. Variance from programming standards.
B. A defect in middleware.

C. Memory leaks.

D. Regression defects.

Answer: B

Explanation:

Variance from programming standards defects (option (A)) are found during the review or static testing process. Therefore a test harness is unlikely to find a defect
in programming standards.

Memory leak defects (option (C)) could potentially be found by a test harness designed to run many test cases. Regression defects (option (D)) could be found
using many types of test tool.

Defects in middleware (option (B)) are generally more likely to be found by a test harness or a dynamic analysis tool than by any other type of tool.

NEW QUESTION 83

- (Exam Topic 21)

Which TWO of the review types below are the BEST fitted (most adequate) options to choose for reviewing safety critical components in a software project? Select
2 options.

A. Informal review.

B. Management review.
C. Inspection.

D. Walkthrough

E. Technical Review

Answer: CE
NEW QUESTION 87
- (Exam Topic 21)

Who is responsible for conducting test readiness review..?

A. Project Manager
B. Test Engineer
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C. Test Manager
D. None of the above

Answer: C

NEW QUESTION 91

- (Exam Topic 21)

Which of the following are the typical defects found by static analysis tools?
* a. Variables that are never used.

* b. Security vulnerabilities.

* ¢. Poor performance.

* d. Unreachable code.

* e. Business processes not followed.

A. b, cand d are true; a and e are false
B. ais true; b, ¢, d and e are false

C.c,d and e are true; a and b are false
D. a, b and d are true; ¢c and e are false

Answer: D

NEW QUESTION 93
- (Exam Topic 21)
What are the key features to be concentrated upon when doing a testing forworld wide web sites ..?

A. Interaction between html pages
B. Performance on the client side
C. Security aspects

D. All of the above

Answer: D

NEW QUESTION 96
- (Exam Topic 21)
The purpose of exit criteria is:

A. Define when to stop testing

B. End of test level

C. When a set of tests has achieved a specific pre condition
D. All of the above

Answer: D

NEW QUESTION 99

- (Exam Topic 21)

Which of the following are most characteristic of structure-based testing?

(i) Information about how the software is constructed is used to derive test cases.

(ii) Statement coverage and/or decision coverage can be measured for existing test cases.
(iii) The knowledge and experience of people are used to derive test cases.

(iv) Test cases are derived from a model or specification of the system.

A. (i) and (ii)
B. (ii) and (i)
C. (ii) and (iv)
D. (i) and (iii)

Answer: A

NEW QUESTION 103
- (Exam Topic 21)
When assembling a test team to work on an enhancement to an existing system, which of the following has the highest level of test independence?

A. A business analyst who wrote the original requirements for the system.

B. A permanent programmer who reviewed some of the new code, but has not written any of it.
C. A permanent tester who found most defects in the original system.

D. A contract tester who has never worked for the organization before.

Answer: D

Explanation:

In this scenario, the contract tester who has never worked for the organization before has the highest level of test independence. The three others are less
independent as they are likely to make assumptions based on their previous knowledge of the requirements, code and general functionality of the original system.
Note that independence does not necessarily equate to most useful. In practice most test or project managers would recruit a permanent tester who has worked on
the original system in preference to a contract tester with no knowledge of the system. However, when assembling a team it would be useful to have staff with
varying levels of test independence and system knowledge.

NEW QUESTION 106

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version ISEB-SWT2 Questions & Answers shared by Certleader
e — https://www.certleader.com/ISEB-SWT2-dumps.html (120 Q&AS)

Leader of IT Certifications

- (Exam Topic 21)
According to the ISTQB Glossary, regression testing is required for what purpose?

A. To verify the success of corrective actions.

B. To prevent a task from being incorrectly considered completed.

C. To ensure that defects have not been introduced by a modification.
D. To motivate better unit testing by the programmers.

Answer: C

NEW QUESTION 110
- (Exam Topic 21)
Which of the following is true of iterative development?

A. It uses fully defined specifications from the start.

B. It involves the users in the testing throughout.

C. Changes to the system do not need to be formally recorded.
D. It is not suitable for developing websites.

Answer: B

NEW QUESTION 112
- (Exam Topic 21)
What can a risk-based approach to testing provide?

A. The types of test techniques to be employed.

B. The total tests needed to provide 100 per cent coverage.
C. An estimation of the total cost of testing.

D. Only that test execution is effective at reducing risk.

Answer: A

NEW QUESTION 113
- (Exam Topic 21)
“How much testing is enough?”

A. This question is impossible to answer

B. This question is easy to answer

C. The answer depends on the risk for your industry, contract and special requirements
D. This answer depends on the maturity of your developers

Answer: C

NEW QUESTION 116
- (Exam Topic 21)
The difference between re-testing and regression testing is:

A. Re-testing is running a test again; regression testing looks for unexpected side effects

B. Re-testing looks for unexpected side effects; regression testing is repeating those tests
C. Re-testing is done after faults are fixed; regression testing is done earlier

D. Re-testing uses different environments, regression testing uses the same environment
E. Re-testing is done by developers, regression testing is done by independent testers

Answer: A

NEW QUESTION 119
- (Exam Topic 21)
Which of the following comparisons of component testing and system testing are TRUE?

A. Component testing verifies the functioning of software modules, program objects, and classes that are separately testable, whereas system testing verifies
interfaces between components and interactions with different parts of the system.

B. Test cases for component testing are usually derived from component specifications, designspecifications, or data models, whereas test cases for system
testing are usually derived from requirement specifications, functional specifications or use cases.

C. Component testing focuses on functional characteristics, whereas system testing focuses on functional and non-functional characteristics.

D. Component testing is the responsibility of the technical testers, whereas system testing typically is the responsibility of the users of the system.

Answer: B

NEW QUESTION 124
- (Exam Topic 21)
Boundary value testing:

A. Is the same as equivalence partitioning tests

B. Test boundary conditions on, below and above the edges of input and output equivalence classes
C. Tests combinations of input circumstances

D. Is used in white box testing strategy

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version ISEB-SWT2 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/ISEB-SWT2-dumps.html (120 Q&AS)

Answer: B

NEW QUESTION 128

- (Exam Topic 22)

Testers are often seen as the bearer of unwanted news regarding defects. What are effective ways to improve the communication and relationship between testers
and others?

* a) Communicate factual information in a constructive way.

* b) Try to understand how the other person feels and why they react the way they do.

* ¢c)Always outsource testing activities.

* d) Never record information that could be used to apportion blame to an individual or team.

A.aandb
B.a,bandc
C.a,bandd
D.aandc

Answer: A

NEW QUESTION 130
- (Exam Topic 22)
Which of the following statements best characterises maintenance testing? [K2]

A. Maintenance testing is triggered by changes to delivered software and uses impact analysis to minimisethe amount of regression testing needed

B. Maintenance testing is triggered by changes to software under development before initial delivery and uses the test plan to determine how much regression
testing to do

C. Maintenance testing is triggered by changes to the test environment and uses testing tools to perform regression testing

D. Maintenance testing is triggered by changes to the software environment and uses structural testing to ensure the changes function correctly

Answer: A

NEW QUESTION 132
- (Exam Topic 22)
Which of the following test design techniques is classified as a structure-based (white box) technique? [K1]

A. Exploratory testing

B. Decision table testing
C. State transition testing
D. Statement testing

Answer: D

NEW QUESTION 137
- (Exam Topic 22)
What can testing demonstrate?

A. Testing can demonstrate that there are no defects

B. Testing can demonstrate that there are defects

C. Testing can demonstrate that the software is correct

D. Testing can demonstrate that there are no hidden defects in the software

Answer: B

NEW QUESTION 139

- (Exam Topic 22)

A client-server system for a web development must support a minimum of 200 enquiries per hour. In peak times, it must be available 24 hours x 7 days due to the
critical nature of the application, and must have a response time lower than 20 seconds during peak loads.

Which of the following set of test types would be most appropriate to verify the non-functional requirements expressed in this statement?

A. Performance, Usability, Regression.
B. System, Load, Fail-over.

C. Performance, Load, Stress.

D. Load, Volume and Component.

Answer: C

NEW QUESTION 141

- (Exam Topic 22)

Which of the main activities of the fundamental test process does the task ‘verify the test environment set up is correct’ relate to? [K1]
A. Planning and control

B. Analysis and design

C. Implementation and execution

D. Evaluating exit criteria and reporting

Answer: C
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NEW QUESTION 144

- (Exam Topic 22)

Test script TransVal 3.1 tests transaction validation via screen TRN 003B. According to the specification (PID ver 1.3 10b iv) the validation screen should not
accept future dated transactions. Test script TransVal 3.1 passes. Test script eod 1.4 tests end of day processing and is run after the execution of TransVal 3.1
using data entered during that test

Which of the following is the BEST detail on an incident report? [K3]

A. Titl

B. End of Day failure.. Reproducibl

C.Ye

D. Descriptio

E. Script eod 1.4 fails when the first transaction of the day is a future dated transactio

F. Screen shot of the failure attached.

G. Titl

H. Transaction input screen validation..Reproducibl

I. Ye

J. Descriptio

K. Script eod 1..4 fails . Screen shot of the failure attache

L. Validation of transaction entryon screen TRN-003B should not allow future dated transactions — see PID ver 1.3 para 10b iv.
M. Titl

N. Screen TRN-003B validation of transaction date.. Reproducibl

O.N

P. Descriptio

Q. When a future dated transaction is processed by the end of day process, a failure can occu
R. This does not always happe

S. Screen shot of the failure attached.

T. Titl

. Screen TRN-003B validation of transaction dat

. Reproducibl

. Ye

. Descriptio

. Script eod 1.4 fails when the first transaction of the day is a future dated transactio

. Screen shot of the failure attache

. Validation of transaction entry on screen TRN-003B should not allow future dated transactions— see PID ver 1.3 para 10b iv.

Answer: D

NEW QUESTION 146
- (Exam Topic 22)
Which of the following BEST describes the relationship between test planning and test execution? [K2]

A. Test planning ensures the level of detail in test procedures is appropriate for test execution

B. Test planning schedules test execution but does not assign resources

C. Test planning defines the overall approach to testing but does not schedule specific activities such as test execution

D. Test planning identifies test objectives related to scope and risk but does not define the level of detail for test procedures used in test execution

Answer: A

NEW QUESTION 147
- (Exam Topic 22)
Which of the following test cases will ensure that the statement ‘Print ‘Hold” is exercised? [K3] Refer to the exhibit
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BEGIN

Read X,

.r.-.._u

A. X=2,Y=2, 7=2
B. X=2, Y=3, Z=4
C. X=2,Y=4,7=3
D. X=4, Y=3, Z=2
Answer: C

NEW QUESTION 152
- (Exam Topic 22)
What is a test condition?

A. A statement of test objectives and test ideas on how to test.

B. An item or event that could be verified by one or more test cases.

C. The process of identifying differences between the actual results and the expected results for a test.
D. All documents from which the requirements of a component or system can be inferred.

Answer: B

NEW QUESTION 157

- (Exam Topic 22)

Which of the following would be appropriate test objectives for user acceptance testing of the first release of a new software product aimed at a general market and
built using Agile methods? [K2]

* a. To identify as many defects as possible

* b. To maximise code coverage

* ¢. To ensure the product works as expected

* d. To assess the overall quality of the product

* e. To determine the reliability of the product

A.bandc
B.aandd
C.bande
D.candd

Answer: D

NEW QUESTION 161

- (Exam Topic 22)

Which statement correctly describes debugging? [K2]

A. Testers identify defects, developers locate and correct defects, testers confirm the correction has cleared the original defect

B. Developers identify defects, testers locate defects, developers correct and confirm the correction has cleared the original defect
C. Testers identify and locate defects, developers correct defects and confirm the correction has cleared the original defect

D. Developers identify, locate and correct defects, testers confirm the correction has cleared the original defect

Answer: A
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NEW QUESTION 162

- (Exam Topic 22)

Consider the following pseudo code:
*1. Begin

* 2. Input X, Y

*3.EX>Y

* 4. Print (X, ‘is greater than’, Y)

* 5. Else

* 6. Print (Y, is greater than or equal to’, X)
* 7. Endlf

*8. End

What is the minimum number of test cases required to guarantee both 100% statement coverage and 100% decision coverage?

A. Statement coverage = 3, Decision coverage = 3
B. Statement coverage = 2, Decision coverage = 2
C. Statement coverage = 1, Decision coverage = 2
D. Statement coverage = 2, Decision coverage =1

Answer: B

NEW QUESTION 167
- (Exam Topic 22)
What are metrics NOT used for?

A. To identify the percentage of work done in test environment preparation.
B. To identify the percentage of work done in test case preparation.

C. To apply to the RAD development model.

D. To measure whether dates of test milestones were met.

Answer: C

NEW QUESTION 168
- (Exam Topic 22)

Before an invoice can be created, an account is required. Before an account can be set up, an account user is required (in order to set up the account). The
software is delivered with a master user only, who can only create other types of users. The following test cases have been written to test the high-level structure

of the software

* a. Create an invoice

* b. Amend an invoice

* ¢. Process an invoice (send to customer)
* d. Delete an invoice

* @, Create an account

* f. Create an account user

* g. Amend an account user

* h. Delete an account user

*|. Amend an account

* . Delete an account

Which of the following test procedures would enable all tests to be run? [K3]

Answer: D

NEW QUESTION 172
- (Exam Topic 22)
Which of the following best describes the Black-box technique?

A. It uses decision coverage for completeness.

B. It ensures all possible branches in the code are tested.

C. Itis based on the internal structure of the system.

D. It can be done without reference to the internal structure of the component or system.

Answer: D

NEW QUESTION 177
- (Exam Topic 22)

It is recommended to perform exhaustive tests for covering all combinations of inputs and preconditions.

A. Yes, it's strongly recommended.

B. No, risk analysis and priorities should be used to focus testing efforts
C. Yes, and it’s also necessary to include all the exit combinations

D. Only the expert testers can make exhaustive tests.

Answer: B
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NEW QUESTION 181

- (Exam Topic 22)

Which type of review has the following main purposes:

discussing, making decisions, evaluating alternatives, finding defects, solving technical problems and checking conformance to specifications, plans, regulations,
and standards?

A. Technical Review
B. Inspection

C. Walkthrough

D. Informal review

Answer: A

NEW QUESTION 185
- (Exam Topic 23)
Which of the following options explain why it is often beneficial to have an independent test function in an organisation?

A. To improve defect finding during reviews and testing

B. To ensure that developers adhere to coding standards
C. To limit communication between developers and testers
D. To provide better metrics for the stakeholders

Answer: D

NEW QUESTION 189

- (Exam Topic 23)

A garden irrigation system allows the user to specify 2 inputs:

* 1. Frequency - The number of times the system should be automatically switched on per day; minimum once per day, maximum 5 times

* 2. Duration - The duration of operation, in whole minutes, each time it is switched on; ranging from 1 to 60 Applying 2-value boundary value analysis which of the
following options has the correct test set of valid and

invalid boundary values?

A. Frequency 1, 5; Duration 1, 60

B. Frequency 0, 1, 5, 6; Duration 59 seconds, 1 minute, 60 minutes, 60 minutes 1 second
C. Frequency 0, 1, 5, 6; Duration 0, 1, 30, 60, 61

D. Frequency 0, 1, 2, 5, 6; Duration 0, 1, 30, 60, 61

Answer: B

NEW QUESTION 192

- (Exam Topic 23)

A new testing tool has been selected for an organisation and a pilot project has successfully completed. The next step is to deploy the tool within the organization.
What is a key success factor in tool deployment?

A. Estimate a cost-benefit ratio based on a firm business case

B. Determine whether benefits will be achieved at reasonable cost

C. Provide support for the test team using the tool

D. Assessment of organisational maturity, strengths and weaknesses

Answer: A

NEW QUESTION 196
- (Exam Topic 23)
When can functional and structural testing BOTH be applied?

A. System and Component test levels only

B. All 'Developement' test levels, i.

C. those before Acceptance testing

D. Component and Component integration test levels only
E. All test levels

Answer: D

NEW QUESTION 198
- (Exam Topic 23)
You are examining a document which gives the precise steps needed in order to execute a test. What is the correct definition of this document?

A. Test design specification

B. Test condition

C. Test procedure specification
D. Test case specification

Answer: C

NEW QUESTION 201
- (Exam Topic 23)
Which one of the following statements about testing techniques is TRUE?
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A. Exploratory testing can replace black box techniques when testing time is very limited

B. Test execution scheduling should give priority to experienced based testing

C. Specification based techniques can be used as a substitute for a poorly defined test basis
D. Experienced based techniques are systematic and produce detailed test documentation

Answer: A

NEW QUESTION 205
- (Exam Topic 23)
Which of the following would NOT be a common metric used for monitoring test preparation and execution?

A. Number of Test cases passed and failed

B. Percentage of planned test cases designed

C. Number of test plan review comments

D. Percentage of tasks complete in test environment preparation

Answer: D

NEW QUESTION 208
- (Exam Topic 23)
A system is being enhanced to simplify screen navigation for users. Which of the following does NOT reflect structural testing?

A. To test all paths that users could take through the screen menu system

B. To ensure that 100% decision testing is achieved for each system component
C. To test all branches of component calls within the application call graph

D. To ensure that users can navigate to all fields on the screen

Answer: C

NEW QUESTION 213

- (Exam Topic 23)

A booking system for a city bus service prices its fares according to the time of travel:

* Peak-time tariff starts at 0600 and finishes at 1000 am

* Off-peak tariff applies during all other times of service

 The bus service does not operate between 2300 and the start of the next day’s peak service Note that all times mentioned are inclusive.

When applying the equivalence partitioning test design technique, which of the following options, shows test case inputs that each fall into a different equivalence
partition?

A. A.-0600, 1000, 1200B.1001, 1300, 2259C.0100, 0800, 2200D.2400, 1000, 2301
Answer: D

NEW QUESTION 214

- (Exam Topic 23)

Which of the following is a white-box test technique?

A. Decision table testing

B. Exploratory testing

C. Statement testing

D. Error guessing

Answer: C

NEW QUESTION 215
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